IRRIGATION SHOPPING LIST 1of4
Qty Item Name Bin Qty Item Name Bin Qty Item Name Bin

MICRO IRRIGATION

MICRO IRRIGATION (CONTINUED)

1/2" POLY FITTINGS

22543 [Micro, 1/4" 4-Outlet Manifold A3008 2872 |Micro, 1/4" Valve - BxB A3020 18204 |1/2" POLY Adapter Female, Bx1/2" FIPT| A3P70
2875 |Micro, 1/4" 6-Outlet Manifold A3006 2873 |Micro, 1/4" Valve - TxT A3020 2962 |1/2" POLY Adapter Male, Bx1/2" MIPT | A3P71
22544 [Micro, 1/4" 8-Outlet Manifold A3009 2900 |Micro, 1/4" Vortex-Threaded A3013 2966 |1/2" POLY Adapter Male, Bx3/4" MIPT | A3P72
2878 |Micro, 1/4" 9-Outlet Manifold A3007 2901 |Micro, 1/4" Vortex - w/ Stake A3014 18106 [1/2" POLY Ball Valve, B x B A3P73
2932 [Micro, 1/4" Adapter TxB (10-pack) A3004 19792 |Micro, 1/4" x 12" Dripline, 100" roll A3H 2964 |1/2" POLY Coupling, BxB A3P69
2931 |Micro, 1/4" Adapter TxT (10-pack) A3004 20643 |Micro, 1/4" x 6" Dripline, 100' roll A3H 15411 [1/2" POLY Cross BxBxBxB A3P79
2885 [Micro, 1/4" Coupling BxB (10-pack) A3004 2925 [Micro, 1/4" Micro Jet 90° A3019 2967 |1/2" POLY Elbow, BxB A3P74
2886 |Micro, 1/4" Elbow BxB (10-pack) A3005 2926 |Micro, 1/4" Micro Jet 180° A3019 2971 |1/2" POLY Elbow, Bx1/2" FIPT A3P75
21252 [Micro, 1/4" Fogger 2GPH-Stake A3021 2924 |[Micro, 1/4" Micro Jet 360° A3019 10150 |1/2" POLY In-Line Filter A3015
3036 |Micro, 1/4" Fogger 2GPH-Threaded A3022 2858 |Micro, Emitter, 0.5 GPH (blue) A3001 2970 [1/2" POLY Plug A3P68
21253 |[Micro, 1/4" Fogger 5GPH-Stake A3023 2859 |Micro, Emitter, 1.0 GPH (black) A3001 2855 |1/2" POLY Support Clamp w/ Nail A3017
3035 |Micro, 1/4" Fogger 5GPH-Threaded A3022 2860 |Micro, Emitter, 2.0 GPH (red) A3001 2969 |1/2" POLY Tee, BxBxB A3P76
2928 [Micro, 1/4" Goof Plugs (10-pack) A3005 2849 |Micro, Punch Tool - Yellow A3034 2973 |1/2" POLY Tee, BxBx1/2" FIPT A3P78
20074 |Micro, 1/4" Ratchet Clamp A3033 2861 |Micro, Spray 90°, GREEN (10-pack) A3002 2981 [Clamp, 1/2" Oetiker A3025
2851 |[Micro, 1/4" Riser 12" A3028 2862 |Micro, Spray 180°, GREEN (10-pack) A3002
2852 |Micro, 1/4" Riser 18" A3029 2863 |Micro, Spray 360°, GREEN (10-pack) A3002 2979 [3/4" POLY Adapter Male, Bx3/4" MIPT | A3P87
2866 [Micro, 1/4" Riser Adapter A3028 2933 |Micro, Spray 90°, BLACK (10-pack) A3003 2980 |3/4" POLY Coupling, BxB A3P85
2898 |Micro, 1/4" Shrubbler Full-Stake A3012 2935 |Micro, Spray 180°, BLACK (10-pack) A3003 15410 |3/4" POLY Cross BxBxBxB A3P95
2896 |[Micro, 1/4" Shrubbler Full-Threaded A3010 2936 |Micro, Spray 360°, BLACK (10-pack) A3003 2978 |3/4" POLY Elbow, BxB A3P88
2899 [Micro, 1/4" Shrubbler Half-Stake A3011 2965 [3/4" POLY Elbow, Bx1/2" FIPT A3P89
2897 [Micro, 1/4" Shrubbler Half-Threaded | A3010 2799 |Funny Pipe, 1/2" Male Adapter A3Q02 2963 |3/4" POLY Elbow, Bx3/4" FIPT A3P90
10148 |Micro, 1/4" Stake - 8" Asta A3030 2800 |Funny Pipe, 1/2" MPT Elbow A3Q03 2972 |3/4" POLY Elbow, Bx3/4" MIPT A3P91
20644 |Micro, 1/4" Stake - 12" Asta A3031 2801 |Funny Pipe, 3/4" MPT Elbow A3Q04 2976 |3/4" POLY Plug A3P84
20645 |Micro, 1/4" Stake - 21" Asta A3032 17000 |Funny Pipe, Ball Valve, B x B A3Q06 10151 |3/4" POLY Support Clamp w/ Nail A3018
2929 |Micro, 1/4" Stake - For Tubing A3024 2798 [Funny Pipe, Coupling BxB A3Q01 2977 |3/4" POLY Tee, BxBxB A3P92
2887 [Micro, 1/4" Support Clamp w/ Nail A3017 2797 |[Funny Pipe, Tee BxBxB A3Q05 15408 |3/4" POLY Tee, Reducing BxBx1/2"B A3P93
2930 |Micro, 1/4" Tee BxBxB (10-pack) A3005 3409 |Clamp 7/16" to 1" Predator A3026 2975 |3/4" POLY Tee, Reducing BxBx1/2" FIPT| A3P94
2923 [Micro, 1/4" Tubing, 100' Roll A3H 2983 |Clamp, 3/4" Oetiker A3025




IRRIGATION SHOPPING LIST 20f 4
Qty Item Name Bin Qty Item Name Bin Qty Item Name

1/2" PVC FITTINGS

3/4" PVC FITTINGS

3/4" PVC FITTINGS (CONTINUED)

2767 |Adapter, 1/2" Female TxS A3P20 2768 |Adapter, 3/4" Female SxT A3P36 2795 [Nipple, 3/4" Close A3Q36
2762 |Adapter 1/2" Male, TxS A3P21 2763 |Adapter, 3/4" Male, TxS A3P37 2791 |Nipple, 3/4" x 2" A3Q37
20648 |Ball Valve, SxS 1/2" PVC A3D 22331 |Adapter, Female Fitting 3/4"x1/2" SxFIj A3Q15 2792 [Nipple, 3/4" x 6" A3Q78
20649 |Ball Valve, TxT 1/2" PVC A3D 18167 |Adapter, Female Fitting 3/4" SPG/FIPT | A3Q16 2803 |Nipple, 3/4" x 12" A3Q80
2724 |Cap, 1/2"S A3P22 2847 |Ball Valve, SxS 3/4" PVC A3D 2732 |Plug, 3/4"S A3Q38
2725 |Cap, 1/2"T A3P23 20647 |Ball Valve, TxT 3/4" PVC A3D 2733 |Plug, 3/4"T A3Q39
2721 (Coupling, 1/2" SxS A3P24 2726 |Cap, 3/4"S A3P38 2772 |Reduce Bushing, 3/4"x1/2" SxS A3Q42
2736 |Coupling, 1/2" TxT A3P25 2727 |Cap,3/4"T A3P39 2773 |Reduce Bushing, 3/4"x1/2" SXT A3Q43
2752 |Elbow, 1/2" 45° SxS A3P28 21184 |Check Valve, 3/4" TxT A3Q051 2774 |Reduce Bushing, 3/4"x1/2" TxT A3Q44
2746 |Elbow, 1/2" 90° SxS A3P30 2780 |Coupling Reducer, 3/4"x1/2" SxS A3Q45 2783 |Quick Fix, 3/4" A3Q34
2761 |Elbow, 1/2" 90° SxT A3P32 2722 |Coupling, 3/4" SxS A3P40 2739 |Tee, 3/4" SxSxS A3Q46
2756 |Elbow, 1/2" Street (White) A3Q24 2737 |Coupling, 3/4" TxT A3P41 2742 |Tee, 3/4" SXSxT A30Q48
2755 |Elbow, 1/2" Street Marlex (Black) A3Q25 2917 |Cross, 3/4", SXSXSxS A3P42 2741 |Tee, 3/4"x1/2" SxSxT A3Q50
2785 |Nipple, 1/2" Close A3Q20 2753 |Elbow, 3/4" 45° SxS A3P44 2807 |Union, 3/4" PVC SxS A3E
2786 |Nipple, 1/2" x 2" A3Q21 2747 |Elbow, 3/4" 90° SxS A3P46
2787 |Nipple, 1/2" x 6" A3Q68 2912 |Elbow, 3/4" 90° SxT A3P48
2788 [Nipple, 1/2" x 12" A3Q72 2758 |Elbow, 3/4" Street (White) A3Q40
2789 |Nipple, 1/2" x 18" A3Q74 2757 |Elbow, 3/4" Street Marlex (Black) A3Q41
2790 |Nipple, 1/2" x 24" A3Q76 2765 |Elbow, 3/4"x1/2" 90° SxS A3P50
2730 |Plug, 1/2"S A3Q22 2751 |Elbow, 3/4"x1/2" 90° SxT A3P51
2731 |Plug, 1/2"T A3Q23 18184 |Hose Adapt., 3/4"FHT(SW)xPoly B, 1/2'| A3Q07
2738 |[Tee, 1/2" SxSxS A3Q30 22329 |Hose Adapt., 3/4"FHT(SW)xPoly B, 3/4'1 A3Q08
2770 |Tee, 1/2" SxSxT A3Q32 22330 |Hose Adapt., 3/4"FHT(SW)x1/2"FIPT(SY A3Q10

22550 |Hose Adapt., 3/4"FHT(SW)x3/4"FIPT(SY| A3Q11

2889 |Hose Adapt., 1/2"MIPTx3/4"FHT (SW) | A3Q09

2890 [Hose Adapt., 1/2"MIPTx3/4"MHT A3Q13

2892 |Hose Adapt., 3/4"MIPTx3/4"FHT (SW) | A3Q12

2891 [Hose Adapt., 3/4"MIPTx3/4"MHT A3Ql4




IRRIGATION SHOPPING LIST 30f4

Qty Item Name Bin Qty Item Name Qty Item Name Bin
2769 |Adapter, Female 1" SxT A3P52 2744 |Tee, 1"x1/2" SxSxT A3Q67 20143 |Adapter, Female 1 1/2" PVC SxFIPT A3Q90
2764 |Adapter, Male 1" SxT A3P53 2771 |Tee, 1"x3/4" SxSxS A3Q64 18427 |Adapter, Female 1 1/2" PVC SxT A3091
2848 (Ball Valve, SxS 1" PVC A3D 2743 |Tee, 1"x3/4" SxSXT A3Q65 18429 |Adapter, Male 1 1/2" PVC TxS A3Q90
20646 |Ball Valve, TxT 1" PVC A3D 2809 |[Union, 1" PVC SxS A3E 18443 |Ball Valve, SxS 1 1/2" PVC A3D
2728 |[Cap,1"S A3P54 2810 |[Union, 1" PVC TXT A3F 15414 |Ball Valve, TxT 1 1/2" PVC A3D
2729 |(Cap,1"T A3P55 15420 [Coupling, 1-1/2" SxS A3Q84
2723 |Coupling, 1" SxS A3P56 19360 |Coupling, 1 1/2", TxT A3Q85
2916 |[Cross, 1", SXSXSXS A3P58 15419 |Cross, 1 1/2" SxSxSxS A3Q99
2754 |(Elbow, 1" 45° SxS A3P60 19349 |Elbow, 1 1/2", 22.5° SxS A3Q86
2748 |[Elbow, 1" 90° SxS A3P62 15418 |Elbow, 1-1/2", 45° SxS A3Q87
2749 |Elbow, 1"x1/2" 90° SXT A3P64 15417 |Elbow, 1 1/2", 90° SxS A3Q88
2766 |Elbow, 1"x3/4" 90° SxS A3P66 18432 |Elbow, 1 1/2", 90° SxT A3Q89
2750 |Elbow, 1"x3/4" 90° SxT A3P67 18531 |Reduce Adapter, Male 1"x1 1/4", TxS | A3Q94
2796 ([Nipple, 1" Close A3Q52 18529 |Reduce Adapter, Male 1 1/2"x2" TxS | A3Q95
2793 ([Nipple, 1"x2" A3Q53 21169 |Reduce Bushing, 1 1/2"x3/4" SxS A3Q92
2947 [Nipple, 1"x12" A3Q82 18433 |Reduce Bushing, 1 1/2"x1" SxS A3Q92
2734 (Plug, 1"S A3Q54 18434 |Reduce Bushing, 1 1/2"x1" SPIGXFPT | A3Q93
2735 |[Plug, 1" T A3Q55 20746 |Tee, 1 1/2" SxSxS A3Q97
2782 |Quick Fix, 1" A3Q35 15416 |Tee, 1 1/2" SXSXT A3Q96
18532 |Reduce Adapter, Male 1"x3/4", TxS A3Q17 19287 |Wye, 1 1/2" SxSxS A3Q98
2775 |Reduce Bushing, 1"x1/2" SxS A3Q56
2776 |Reduce Bushing, 1"x1/2" SxT A3Q57
2948 |Reduce Bushing, 1"x1/2" TxT A3Q58
2777 |Reduce Bushing, 1"x3/4" SxS A3Q59
2778 |Reduce Bushing, 1"x3/4" SXT A3Q60
2779 [Reduce Bushing, 1"x3/4" TxT A3Q61
2740 |Tee, 1" SxSxS A3Q62
15415 |Tee, 1"x1/2" SxSxS A3Q66




IRRIGATION SHOPPING LIST 4of4
Qty Item Name Bin Qty Item Name Bin Qty Item Name Bin
BOXES/FITERS/TOOLS/VAIVES W

2804 |Extension, 1800 Rainbird, Pop-up A3016 2854 [1/2" POLY Tubing per Foot BW 22332 |Brass Hose Bib Vacuum Breaker A3G

2958 [Nozzle, MP Rotator, FOR Rainbird SD 2802 [Funny Pipe, Per Foot (Roll=100ft) BW 22552 |Brass Shut-off Coupling A3G

2990 |[Nozzle, Rainbird, Square Full A3P02 22681 [1/2"x100' NDS Dripline 12" Spacing BW 22547 [Filter, 3/4" AMIAD TxT A3H

2989 [Nozzle, Rainbird, Square Half A3P02 2974 |3/4" POLY Tubing per Foot BW 22548 [Filter, 1" WYE Rainbird TxT A3H
2988 |[Nozzle, Rainbird, Square Qtr A3P02 2843 [PVC Pipe, 1/2" x 20ft - CL200 BIL 2812 |lIrrigation Box, 6" Round A3102
2823 [Nozzle, Rainbird; EST, CST, SST A3P08 2871 |PVC Pipe, 1/2" x 20ft - SCHD 40 BOL 2813 |[lIrrigation Box, 10" Round A3101
2822 |Nozzle, Rainbird; Q, H, F A3P03 2869 [PVC Pipe, 3/4" x 20ft - CL200 BIL 10234 |lrrigation Box, 14"x19"x6" A3J01
2824 [Nozzle, Rainbird; Variable Arc A3P09 2870 |PVC Pipe, 3/4" x 20ft - SCHD 40 BOL 2815 |[Irrigation Box, 14x"19"x12" A3J02

2956 |Nozzle, ROTARY 13'-18'Q, H, F A3P12 2867 |PVC Pipe, 1" x 20ft - CL200 BIL 3024 |Pressure Regulating Filter, 30 PSI A3H

2944 |Pop-up, 2" 1802 Rainbird A3MO03 2868 |PVC Pipe, 1" x 20ft - SCHD 40 BIL 10068 |Pressure Regulator, 30 PSI A3H

2942 |Pop-up, 4" 1804 Rainbird A3MO01 2959 |Tool, MP Rotator Adjuster for Rainbird| SD

2943 [Pop-up, 4" 1804 S.A.M Rainbird A3MO04 12705 |Tool, Rotor Head Pull-Up A3M

2865 |[Shrub Adapter, Rainbird A3P01 2844 |Valve, Rainbird, 3/4" A3H

3026 [Swing Arm, 1/2" x 6" A3P96 2841 |Valve, Rainbird, 1" Adjustable A3H

20190 |Wire Connector, Waterproof, Medium| A3G

2960 |Wire Connector, Waterproof, Small A3G

2905 |Wire, 5 LVT (per foot) A3G

2906 |Wire, 7 LVT (per foot) A3G

15324 |Wire, 9 LVT (per foot) A3G




